CIELABuU7-Dreieckshelligkeit T*
T* YocmL*w - nc=100,

T*cieLasur =59 (YY) 29 (Y,=18, ¥,4/100Y<=Y,o)
T#n(3,6)=22,T* ,(18)=50,T*(90)=103

log[T*/T*,]=0, m,=0,46

bereich
1,518
D= 90

Yn=3.6

CIELABuU7

Normfarbwertdifferenz

Yoc=L*w - nc=100,
T*cieLasur =59 (YY) 259 (Y,=18, ¥,4/100Y<=Y,o)
log(dY) = (1/2,5) log[2,5¢/58)] + [1-(1/2,5)] logY)

A
*,=50, dY,=4,27, dY,/Y,=0,2377
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1
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log (AY/Y) CIELABU7
_ Normfarbwertemfindlichkeit
SOV Yoc=L*w - nc=100,
T*cieLasu7 =59 (YY) 259 (Y,=18, ¥,/100Y<=Y,o)
log(dY/Y)= log[2,5(Y,/58)] - (1/2,5) log{/Y,,)
= (1/2,5) log[2,5¢,/58)] - (1/2,5) log{)

~

~

~ perelch

log (Y/AY)
C,=(Y/AY)

CIELABuU7
Normfarbwertkontrast

Y=L w nc=100,
T*cieLasu7 =59 (YY) 259 (Y,=18, ¥,d/100Y<=Y,o)
log(Y/dY)= — log[2,5/,,/58)] + (1/2,5) log{/Y,)

= - (1/2,5) log[2,5(,/58)] + (1/2,5) logy)

*,=50, dY,=4

bereich
Y,=18
= log

Yn=3.6
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Anwendungs-

Anwendungs-

Anwendungs-|

TEIT
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CIELABUT relative Dreieckshelligkeit T*/T*,
YocmL*w - nc=100,

T* cieLagur =59 (YY) 259 (V,=18, Y,/ 1002Y<=Y,)
T*n(3,6)=22,T*,(18)=50,T*,(90)=103

Anwendungs-|
bereich

1y,=18
Yy=90

Yn=3.6

log(A Y/AY W)
AYIAY,

CIELABUT relative
Normfarbwertdifferenz

Yoc=L*w - -nc=100,

T* cieLagur =59 (YY) 259 (¥,=18, Y,/ 1002Y<=Y,)
log(dY/dY,) = [1-(1/2,5)] loglf/Y,)

o=
log[(dYY(dY),]=0, m=0,60 .~
- 1 Anwendungs-
2> 1 bereich

1y,=18
Y=90

YN=3.6

log [(AY/Y) I (AYIY)] CIELABUT? relative
Normfarbwertempfindlichkeit

SSu=@YMIBYN)y v =+ - =100,

T* CieLagu7 =59 (YY) 259 (¥,=18, Y,/ 100Y<=Y,0)
log(dYM)I[AYY),] = - (1/2,5) logiIY,)

Anwendungs-|
bereich

" s
logl(dY/YY(dY/Y),]=0, m=-0,39 1 T~
1
* =50, dY,=4,27, dY,/¥,=0,2377 }
1y,=18

V=90

YN=3.6

log [(Y/AY) I (YIAY),] CIELABU7 relativer
Normfarbwertkontrast

ColCr=(YIRVI(YIAY)y y 2w 2100,

T* cieLaBu7 =59 (YY) 259 (¥,=18, Y,/ 100Y<=Y,0)
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

bereich
v,=18
Yy =90

YN=3.6




